Hin 2B10b 2012 QCM3
(1) T R w2 | SH U o fory o T h gl ai WL |
- TRt AT Rged ™ ST ARy, - T A v ARy, — e fawedt st =R - g et s A e
(2) (sur une affiche) 3T TETET TATHT & | THAT B4 T ST & | TTST AT & ... |
- ST —FAFTE — AT — AT
(3) ALY ATAT AT TH AT | AL FIA GATA GIE QT | AT agd G670 ¢ 3T v L

- T T 0T &7 10 AT RN - T 7T (&7 1 F7A1 9277 - T O o #18 5ar — g a {39 dgqq &g

(4) TFFT | T gL qdTg B AT | AGT A-T .......... Y | T S I8 g ATAL &0 FAT g7 |

(5) =0 RfEarR ¥ AT W F JET L | SRTE ST & Tesh 3w aa AT 2 |

- T T — i T & - T ¥
(6) TN ATHZA BT AR ITT T | .......... Tl 3Id &f Hal | 9= (I 7 qTTH Al .......... |

- gy, o —asfy 9, foro — 7+t =7, o — I % 9, 1T
(7) ¥ e =TT & ATeRiE PRI S R AR L | S T A A S A AT E |
- 3T e - 39 et — Iegie ot - A
(8) ITEIATA Tga+ UX g TTAT foh BT W8 AL ... | (FTTEAT gémir)
- I 7 A - e - T T2 A — FEA g
(9) 7 A ATA AGH ......... | gt 39 eda™ T2d § S 919 98 Fg 969 faamer argdt g |
- STt Tl 8 — ST AT & — ST Tt - ST T E
(10) S MM AR MU A FaE FRTI.......... L

- 5% T T A R AT — 3R T A A R o 3 v o 8 e e o



